1. a<02d, V8la2 =+ (- V3a)® + /(-0.5a)2 x (@)2% Al4tst

vt

@ 0.1a>-3 @ 0.1a>+3 ® 0.5q> -3

@ 05a%2+3 B a®>-3



2.

3x-y = 12 4, V5x Ty 7h 47} E B
x & Fofofel,

s
=¥

=7



O<a<1¥uf ot

3.

® +a



L=
L
L=
1
L
L
L=
1

| ® 1,L, .

® gt

9

@ 1. L c=



5.  x, y>00]2 3v2xx V3xx V6 =126, 2V7 x V6 x V3 x \y =84
1 _
o, A~ xy o] gt Frotetet

L
=%



6. x=5+3V2y=V5-3V2 o, x* 4yt o] G Fotofat,

& e
=%



e B9 A, B, C, D, B olH 7Py 2 2o b #e o) B2
Fstoler

H7]

=71
@ Vi5=AV3 © V2Zx5°x3=BV3
© 3V3+4V3=CvV3 @?’J/_(?:Dﬁ
® V021+ VT =EV3

e =
=%



thS B7)9 A, B, C, D, E oA 7 & 49} 714 22 4

H7
@ Vi5=AV3 © V22x52x3=DBV3

©3Viiivi—CVi  @© ?’f_mf
® VO + V= EA3

e
=%



2+ 3

2a+3b & F& FoFH? (B, 0<b<1)

D V3-3
@ 3+3-1

@ 2v3-1
® 3vV3-3

® 2v3-3



10.

1
T BT

ol En= oa]5lsld, Va - ‘/_ ‘/_

a+b+c+do #& st

S ER
c

of. of o,



11. AAZ p o dste] yn 9 24 BES f(n)olat & W, £(175) -
2£(28) = aNT7+b °ltt. o] o, ab 2] Fh-& FoHH?

@D -5 @ -3 3 -1 @ 1 ® 3






of A= b=t &
V O AlEE a, 126 V576 2] Fo] Al

-4 2 9’1 ’%O Hi =2 U,

e g gt

thab =



14.

3 ] o) Al B2k Fo) B
shelat,

v V/9(a2b?)3 - V5a2 - 2b2
g«




|

15

. e
o= Zl_ll_’]__g] _]—

ofa}

[¢]

\/\/\/

(

V3-2)2+ \/

B e o



16. a-3b<2(a-2b) D W, \/(a-b)??+ /(b-a)? & 5] stojat,

e =
-



17, ZE R A S e A, y ol Hhetel sy o) TS

e

w
=



M 24 a, b, coll
A% (a, b, ¢) 2 75

di

dstel, N7 5 el el A4} 517
Fotodet, (Ha+b+c<80)



19. 4< Va+2b<5E WESHE 3 o vl a 9F &40 b o diote] =A%
(a, b) & 25 2 71 A] FL5toizt,

> R 7N



R

1=

@ 1< Vb-3x<4 © 2<VI-A< V7
© -1<+]2x-3]<2

YR
=%




21. V19 < V5x < V699 S THESHE x 9] 3F FolA Vox 7t AdSTt
H L& ot AdS x o] g2 2 JRQ1A] Fto=)

= A



i W A ol

L Ba4 ZofA \/ﬁ—f]o Z2 Yeid 5 9=

T 46 T 8 Atolofl Q= R85 v = S15ledat,

RS ya. 48 48 VALY W, VoD & et
o - = )

(&, n 2 A5

YER
=%



23.

ASHA A, Bo] ZBylo] H|7}4: 90]11,
280cm3 < o, A, B9] §F mAjg]e] o]

EE,FZA: cm
a':t,"ZB: cm

=
e
=
=

2]

354
27 7

ZEEEER

stojet,

ol
ol
£



ol



1H @ +b? =7 0]t} o] f, ¢ 9]

)

F] R4 q O £5HEL b
shofat. (b #0)

A< H HYJ o
AeRES

25.



